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image5.tmp
Problem 2.7

An automabile uses two halogen headlights connected as shown. Determine the power supplied by the
battery if each headlight draws 3 A of curent.
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Problem 2.8

Many years ago a string of Chiistmas tree lights was manufactured in the form shown in (2). Today the
lights are manufactured as showmin (b). Is there a good reason for this change?
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Problem 2.9

Find J, in the network shown.
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Problem 2.10

Find J, and J, inthe circuit showm.
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Problem 2.12

Find 7, 1, and I, in the circuit shosm.
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Problem 2.14

Find 7, I, and I, inthe network show.

mA
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Problem 2.16

Find 7, in the network shown,
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Problem 2.18

Find 7, in the circuit shosm.
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Problem 2.20

Find 7/, and V/ in the circuit shown.
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Problem 2.23

Find 7, in the network shown,
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Problem 2.25

Find 7, in the circuit shown,
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Problem 2.28

Find 7, i the etwork shovn
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Problem 2.30

Find 7, in the network shown,
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Problem 2.33

Find 7, in the circuit shown,
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Problem 2.38
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Problem 2.40
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Problem 2.45

Given the network shown, find the possible range of values for the current and power dissipated by the
Following resistors:

2) 390 Q with a tolerance of 1%.

b) 360 Q with a tolerance of 2%.
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Problem 2.48

Find J, and 7 in the circuit shosm.
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Problem 2.50

Find J, in the circuit shosm.
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Problem 2.54

Find 7, in the circuit shown,
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Problem 2.58

167, =4V in the network shown, find 7,
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Problem 2.60

I the power absorbed by the 4-k0) resistorin the circuit shownis 36 mW, find 7,

G
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Problem 2.65

Inthe network shosn, 7, =12 V. Find 7,

1x0
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Problem 2.68

Inthe cireuit shown, J, =2 A Find I,

gm
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Problem 2.75

Find 7, in the cireuit shosm.
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Problem 2.1

Find the cument / and the power supplied by the source in the network shosm.
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[Problem 2.3

Ifthe 10-K02 resistor in the netwwork shown absorbs 2.5 mW, find 7,
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Problem 2.5

Inthe network shown, the power absorbed by Z, is 20 mW. Find 2,
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Problem 2.6

A model for a standard two Dcel flashlight is shosn. Find the power dissipated in the lamp.
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